m B B & — E
£1HE 9825H (N
I I I I I |
10 11 12 13 14 15 16 17
30 30 30 30 30 30 30 30
e 400m | [= s I:W
i 400m o7z o
-] 1500m Lk
% 1500m i,
% 5000mW
% 2000mSC s
L 4x100mR oo
% 4x100mR i
5 EmPk
ES] EEBk
= FENEB
5 Nov—%& e
ES SE5 -
2 Rk e et o
B R 100m
B EH EiER e
B R R
5 GEM 400m :;w
%(2HE 9826H (%)
I I I I I |
10 11 12 13 14 15 16 17
30 30 30 30 30 30 30 30
ES] 100m | -_7m I:II.I%
z 100m o~ lo
= 400mH ki A
E°8 400mH |® ®x
= 5000m LEZS
E 4x100mR
= 4x100mR
z 3000m
E saoomk | LT TP T T =TT
% 4% 400mR s
5 EERk
4 ek
z =Bk -
E:] Fahik
= RlUE:
2 B 110mH
B R U
5 B E Bk mEREy
B B 1500m man
% B 100mH |o =
7 EM E BBk @5/
% B HaALI 0
% SRR 200m [ 1] Lo
#$3HE 9A827H (1)
I I I I I |
10 11 12 13 14 15 16 17
30 30 30 30 | 30 30 30 30
E 110mH =3 |ms
ESS 100mH lo o
E:) 800m |mi m s
%z 800m _— e
E 200m =8 g
S 200m 27 7
] 5000mW ki
L 3000mSC i
E 4 400mR u
@z 4x400mR o_
k=8 EmPk
2 =EBk o e et
E P
Z bk
Ny —% |
Z R EiEPk o
ks Y Lty
Z R 800m [ 11]] BE




SM7TEE

83 0 ERItEFARMARE LR EFIEAS

B EiE

B2 7
EE #1HH 9H25H (K %#2HH 9H26H (&) #3HH 9HA27H ()
100m i 10:40
OB 14:10
200m ¥ OE 12:00
RO 13:50
400m F OE 12:00
RO 14:20
300m F = 11:20
RO 14:20
1500m F = 11:05
RO 15:10
5000m RO 16:10
110mH F = 10:40
RO 12:50
400mH ¥ OE 11:35
=B 13:45
3000mS( RO 15:00
5000mwW RO 9:30
4x100mR F OE 16:25 =B 13:05
4x400mR ¥ OE 15:40 RO 15:45
Em RO 10:00
Bk RO 10:30
E R RO 10:00
=Bk ROB 12:00
fahik ROB 10:00
[amk: 53 RO 9:30
Nnyv—% OB 10:00
VK3 OB 15:00
100m 10:30 110mH 9:50
Rk 11:30 U3 :
S BB 3 @i}x 11:00
Rt 13:30 EEBk 13:45
400m 16:10 1500m 16:55
z F
& B #81HH 9H25H (K) ®2HH 9H26H (&) ®3HH 9H27H (1)
100m F = 10:20
RO 14:00
200m F o= 11:45
mOB 13:40
400m i 11:40
ROB 14:10
800m F = 11:05
RO 14:10
1500m F OE 10:45
OB 15:00
3000m RO 16:35
100mH F = 10:20
R 12:40
400mH F = 11:10
RO 13:30
2000mS( OB 10:00
5000mW OB 15:20
4x100mHR F OE 16:25 RO 12:50
4x400mR| ¥ OE 15:10 RO 15:35
EEEk ROB 10:00
BBk RO 10:30
Rk OB 13:30
ZEEk RO 13:30
FaM OB 9:30
[R5 OB 12:30
N —#% ROB 13:15
RUE="3 RO 13:00
100mH 9:30 EEEK 9:30
= oy . > 1) 4 .
cEEE EEBk 10:30 UE=3 11:45

2Bk 13:00
200m 14:30

800m 14:35




SM7TEE F30RFILSHFEEZRFAELEREFEXS HEEE
%188 98258 (R
[+Z v o]
i e a| R | wmeme | @w | mos+ _ I
B =7
1 10:00 ZF 2000mSC R |2 88 MAL-2 9:25 9:40 BERT
2| 1030 | ER 100m « 248 9:55 1010 | RBEF
37
3 10:45 ZF 1500m FE |2H-4F+ 4 10:10 10:25 BERT
4 11:05 BF 1500m FE |2H-4F+ 4 10:30 10:45 BERT
5 11:40 ZF 400m FE |3H—2F+ 2 11:05 11:20 BERT
6 12:00 BF 400m FE |3H—2F+ 2 11:25 11:40 BERT
7 14:10 ZF 400m PN 148 13:35 13:50 BERT
8 14:20 BF 400m R 148 13:45 14:00 BERT
9 15:00 ZF 1500m R 148 14:25 14:40 BERT
10 15:10 BF 1500m R 148 14:35 14:50 BERT
11 15:20 ZF 5000mW R 148 14:45 15:00 BERT
12| 16:10 R 400m * 2% x 1550 | BAgEE
>3
13 16:25 ZF 4X100mR FE|3EH—2F+ 2 15:50 16:05 BERT
14 16:45 BF 4X100mR FE |3H—2F+ 2 16:10 16:25 BERT
(74 —0 ¥ - BeEws]
DEREY _
e smeira| R | mmEme | @w) B = REEEE TN PP
Bl =7
1| w0 | =7 — s | BY—» 9:00 015 | @R
2 10:30 S NS PN Ny g 9:00 9:15 BERT
3| 1130 | ER Ik * A x 11:00 | EAuEE
>3
4 13:30 ZF TE TR B PN XA 12:30 12:45 BERT
[7 =0k - B
DEREY _
e smmesra| R | mmEme | @) B = REEEE TN PP
Bl =7
1 10:00 BF NnNyv—1¥% PN A —v 9:00 9:15 BERT
2 12:30 LZF FIAE % PN A —v 11:30 11:45 BERT
3| 1330 | ER RN * Ay —> x 13:00 | EAuEE
>3
4 15:00 5 helUE: PN A —v 14:00 14:15 BERT




ok B E K

%3 3._:,%,:@%@@ B ek s 10:30 %2 zl:’ﬁ::‘&ﬂk@@]

Z 2000mSC NI 10:00
Z 1500m Tigk 10:45
500 0mW RWs o 15:20 B 1500m T 11:05
2 1500m N3 15:00
B 1500m W 15:10
N\
B oNv~w— Pl 10:00
1o PR RS 12:30
x B\t 13:30
AV/—=v
B oYK PN 15:00
10:00 /
| Z 400m Tigk 11:40
\ B 400m ik 12:00
B \f100m 10:30 % 400m NI 14:10
B 400m e 14:20
\‘ (ﬁ B A4 00m 16:10
XA 4 4%100mR P 16:25
- " B 4X100mR T 16:45
3B \FER 11:30 —
R  J— I i AiEBk N 13:30 I
Bl4a=7=HAYO Bla—=7=MAYDO

/ A 4 v 2 & v F \




£20E 982680 (&)
[F5 v o8]

B+ SRR ]| 1R FiiviER f&Enl H-E+ = = HBEIGAT
1| 930 E? 100mH * 248 8:55 910 | sBeER
o | 950 ;ﬁ 110mH * 248 9:15 9:30 | sBeEA
3| 1020 | %7 100m F2 |3M—2%+ 2| 945 10:00 | fBERT
4| 1040 | BT 100m FE |3@—2%+ 2| 1005 | 1020 | ;=
5| 1110 | &7 400mH | 2 |3@—2%+ 2| 1035 | 1050 | BEAr
6| 1135 | =7 400mH | ¥ |3@—2%+ 2| 1100 | 1135 | A
70 1230 | =% | ax100mR | e 148 11555 | 1210 | B
8| 1240 | mF | ax100mR | e 148 1205 | 1220 | &
o| 1330 | x7 400mH | s 148 1255 | 1310 | B
10| 1345 | BT 400mH | B 148 1310 | 1325 | @B
11| 1400 | %7 100m e 148 1325 | 1340 | @&
12| w10 | 7 100m e 148 1335 | 1350 | B
13| 14:30 iﬂ’;j@ 200m x 248 % 1410 | EruEE
14| 1510 | %% | 4x400mR | T |[3@—2%&+ 2| 1435 | 1450 | mEF
15| 1540 | BF | 4x400mR | T |[3E—2%&+ 2| 1505 | 1520 | R
16| 1610 | 2% | s5000m | 148 1535 | 1550 | &R
17| 1635 | %7 | 3000m | i 148 16:00 | 1615 | B
18| 16:55 ;@i 1500m « % « 16:35 | EAueE
(71— - Bies] ] -

B 7| 3Rz FR ]| 1R HixiEE fEnl mOE = == REIGAT
1| 1000 | 27 FEIED SR Af v 9:00 9015 | mEm
2| 030 | P B * BY—> x 10:00 | EALE
3 10:30 TF ek RES Ny 9:00 9:15 JRERT
4| 1330 | %7 =Ek e A 1230 | 1245 | B
5| 1345 ;_‘jzﬁ £ * BY—> x 13:15 | RARE
(74— F - s _ o _

B+ 3R FR )| 1R HER &5l m = B == HREZAT
1| 1000 | mF R S BY—> 9:00 915 | mEm
2| 1m0 | ER 1) * A= x 10:30 | BAuEE
3| 1300 ;2 1) s AV— 1200 | 1215 | B
4| 1300 Ezﬁ R * BY—> x 1230 |RAkRE




£2H

B3a=—HAYO

B B B &

y

L

B2a=—HAYDO

o ek e 10:30
I
B 5000m Y 16:10
. 3000m R 16:35
L £FE200m 14:30 % Jf1500m 16:55
| \
5 rahx N 10:00
x EARR L 13:00
AV/—=v
B\ £ 11:00
o R0 i 73 13:00
i AR 10:30 _—
% \HE ARk 13:45
4 400mH T 11:10
By % 400mH FiE o 11:36
X EE100m 9:30 L 4X100mR Bl 12:30
77 }UFE] 10mH 9:50 B 4X100mR &% 13:40
£ 100m T 10:20 £ 400mH s 13:30
%100111 TE 10:40 ALY % 400mH W 13:45
% 100m R 14:00 ( J L 4X400mR T 15010
% 100m s 14010 3 4x400mR T 15:40
W AEE N 10:00 —
1" - Bk oAgIEAS 13:30 —_—
B4a=7=HAYDO S e Bla=7=HAYO
IN -~ N
/ A4 v %2 v F \




#3088 9H27H (L)
(k5 v o8]

Ve R | MR BiEE &3 e — = T
1 9:30 BF 5000mwW R 148 8:55 9:10 BERT
2 10:20 ZF 100mH F& |3 H—2F + 9:45 10:00 BERT
3 10:40 BF 110mH F& |3 H—2F + 10:05 10:20 BERT
4 11:05 TF 800m F& |3 H—2F + 10:30 10:45 BERT
5 11:20 BF 800m F& |3 H—2F + 10:45 11:00 BERT
6 11:45 TF 200m F& |3 H—2F + 11:10 11:25 BERT
7 12:00 BF 200m F& |3 H—2F + 11:25 11:40 BERT
8 12:40 TF 100mH R 148 12:05 12:20 BERT
9 12:50 BF 110mH R 148 12:15 12:30 BERT
10 13:40 TF 200m R 148 13:05 13:20 BERT
11 13:50 BF 200m R 148 13:15 13:30 BERT
12 14:10 TF 800m R 148 13:35 13:50 BERT
13 14:20 BF 800m R 148 13:45 14:00 BERT
14 14:35 ﬁﬁé 800m * 2% * 14:15 TRRRIRE
15 15:00 BF 3000mSC RS2 88 4AL-Z 14:25 14:40 BERT
16 15:35 TF 4 x400mR R 148 15:00 15:15 BERT
17 15:45 BF 4x400mR BN 148 15:10 15:25 BERT
[7 4 —LF - BiEEsR] _ — _

B s 1R E e 73 m = — ———| B
1| 930 o Bk x A 8:45 9:00 | B
2 10:00 ZF E =Bk R BY—v~ 9:00 9:15 BERT
3 12:00 BF —ZEEk BN XA 11:00 11:15 BERT
(74— F - B _ — —

B s 1R E e &3 m = — ———| B
1 9:30 BF A% R A —v 8:30 8:45 BERT
2 9:30 ZF faux R BY—v~ 8:30 8:45 BERT
3 11:45 5? helUE4 * A —v * 11:15 EREE
4 13:15 ZF N —¥% R A —v 12:15 12:30 BERT




%3H

B3a=—HAYO

o Rk

B B B &

EfE EERE 9:30

—

y

Nl

Z 200m Trige 11:45
B 200m T 12:00
B 5000mW R 9:00
Z 200m 73 13:40
B 200m P 13:50
I LR 11:45
10:00 /

% Mg

o~ —#

f23—7—=WAYO

9:30
13:15

s

AN \

RN

B 3000mSC kB 15:00
#Z 100mH T 10:20
% 110mH Ti#E 10:40 XA
10 0mH N7 12:40 ( J
B 110mH N 12:50
o LFEAEEY 9:30 —
4 a—=9=HAYDO % =Rk Y 12:00  ——

ERFEREY

7 N 9:30
800m Tise 11:05
800m T 11:20
80 0m NI 13:40
800m i 13:50
L8 0 0m 14:35
4X400mR s 15:35
4X400mR R 15:45

Bla—7—wAYO

l

X 4 v R &

b

E

\




